OMmRON

kEE-SX1041 T To0E Y [EE]

WSR~TE W5

(B mm)
MAX0.2 1ae MAX0.2 o ERSmMmLA ¥ 1 7
5% o 7 ¥ MEARFELET
B0z {g{akjr—@f—} o ZorfERE (A v MIF0.Smm)
(5 \
0.2 T oiiu.w
| L ‘ ;
M : w# +—i—F 22
3, [
1 | W AR (Tams50)
Ll [ 2i5 | L ‘ |l = = L, w2 2L.
M|L5 il e o e IH H L5 EAGME | AT
l. | 2.0.7+01 I <« )"E: % b IF 50 %1 mA
4-0.25—4— ‘ %t - —
- | 405 F—(e— 52501 17;% NV AN E | Tee 1 %2 A
E (2-2.54) < ﬁ} < | g 7 + VR 4 Vv
z E[[j — ﬁ}; aVryeryy s HER VCEO 30 \Y%
a | <
§ AEBEI y N2 407501 % I3v9-aV7IHER | VEco — \
- KO—Z% t#,—OC 2.35%0.1 6.6%0.1 MEREEE R Ic 20 mA
E - o AP FEET 2, A 100 *1) mW
> ro—  —oF T % 5 & = B f R | Topr |-25~+95| T
1 W % W 3UT | 03 B®ofF m E Tstg -30~+100| C
9 A 7ok SEMAG6UT | +0375 A 7T R E | Teol 260 *3| C
1 K B —F 6FBAIOMT | +045 TS Sy Y pY—
c TR EBAT T oS *1 AEREI2SCERL SR, BERREE TR C
E 3Iv¥ 18% B 2 30LL +0.65 *2 /\‘711/7\m.5-5§10/14 . ?(fﬁn'%ﬂ)—:LLIOOHZ
3 3 AT EREIZ 10R0 AN
BES[H B KOXFZRFMH (Ta=25C)
] AT o
i H i R %
MIN. TYP. MAX.
JIE o FE | VE — 1.2 1.5 V | IF=30mA
1?'1’: $Uil 1 IR — 0.01 10 A | VR=4V
H
¥ — 7 B XKk E AP — 940 — nm | [F=20mA
ot 5 ol Io 0.5 — 14 mA | IF=20mA, Vce=10V
I o Wi | Ip — 2 200 nA | Vcee=10V, 0/x
1,J W & G| Ieak — — — 1A
Hi
a7y -3y 7R
# A1 = E Vce(sat) — 0.1 0.4 A% [F=20mA, IL=0.1mA
V=7 B REERE] r — 850 — nm | Vce=10V
Vee= RL=1000Q
g1 Ik M| tr — 4 — 18 IL(z SH?X’ L=100
Vec= RL=1
TR M| o — 4 — s | Y ReTI00

40



OmRoN EE-SX1041

WER - 4FIEETR

X1. IEEFR - L7 2IBROBEEIRE X2. lgER—IEEEFE (TYP.) 3. XER—IBE MAFE (TYP.)
J’IE 60 150 [_j, !I_E 60 ¥ 10 T T
s = 5 Ta=25C
’;E I Z E :I; Vce=10V—|

iz

mh 50 B mAso A
T \ 5 = Ta=‘*30‘C ’ l l s
Cc
Po 100™ 0 Ta=+25'C\ //

JEEENGN zvimn ,
|
|
|

\\
Z NAL
I

10 10
/
/ 7
0 0 0 £ 0
40 20 0 20 40 60 80 100 0 02 04 06 08 1 12 14 16 18 0 10 20 30 40 50
BEEERETa (CT) IEEEVF (V) JBEFIF (mA) g
=
oy
X4. XER—IL 74 - I3y 4ABEHHE (TYP) 5. B A ER—RBEREFE (TYP.) Xe. BEER—ERBESE (TYP.) P4
% 10 T T #5120 T g
R oo a=esc §€ [F=20mA €
T 2 S Vee=5V T
A w110
=8 ’I_L E
7 ‘F:SOm_A ] % E
. 100 .
67— Tr=40mA L S
5 r 'IF=3bmA 90 1
4 — 0
- 4
3 1F=20m 80 1
) l
IF=10mA 70
1
c' 60 ooor—— L [T T T [ [ [ T T 1
o 1t 2 3 4 5 6 7 8 9 10 40 -20 0 20 40 60 80 100 7730 20 -10 0 10 20 30 40 50 60 70 80 90
ALy %-I3y 2EEEVCE (V) BEBETa (CT) EEEETa (CT)
X7. IcEE—A KRS (TYP.) X8. A EFE (TYP.) X9. A EFE (TYP.)
510,000 =
g VoC=5V ;3120 T ﬁ 120 i i
B Ta=25C [T] % IF=20mA % IF=20mA
&l Vce=10V E Vce=10V
tr #100 Ta=25"C — #100 Ta=25C —]
1 I Gesehi) IL N
£ 1,000 % 0t % \ |
80 4] 80 ~
Tx
d 1] -0
- 17
100 60 \ 60 \ S0
40 \ i 40 \ II
10 —
= 20 \ 20 \
1 0 \
0.01 0.1 1 10 05 -025 0 025 05 075 1.0 20 15 10 05 0 05 10 15 20
BFERRL (kQ) FEBd (mm) FEBd (mm)

B10. &R ERIE R

Vce

Hh

a1





